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1. BIrpaEsE

from tinyddp.client import DDPClient, Collection, Subscription
# 169.254.1.254 8% f8ipaddr, 7801J9PMI -60031&EIRIEARIRS

# HIAEPMIREUBARIES [AL, A6]DBIIRNIRAS[7801, 7806]

# HAEPMIEERIEANIENIS [B7, B8] BIXIRLIROIS[7807, 7808]
duts_port = "ws://169.254.1.254:7801"

client = DDPClient(duts_port)

pmi6@e3 = client.get_proxy('PMI-6003') # 'PMI-6003' Arpcimief@AsLHltIdse

2. APIER

pmi6@03.measure(6V, 5, 3000)

ERAEAPIEAE

TFLRERETAPIZIZR DUBF{4: API_List/pmi-6003.html

i EieE
REIEOSHTN "=" FEME, ERAMapiNHESHTA;
LU N E R E 5 -
VIR EEEO

measure(self, scope, sampling rate=5,delay_ time=1):

VBREED:

measure('6V")

1. ZREVERfHhiRA

get_driver_version():
Returns:

string, current driver version.
Examples:
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pmi6003.get driver_version()

%mx/l EIJJ
measure(scope, sampling rate=5,delay time=1):
Args:
scope:
string, scopeS¥EUNNIERR BIRUEHE,
[ 'éemv', '6V', '60V',

'600mV_AC', '6V_AC',
'16nA', '100nA', '1000nA', '10uA', '100uA',
"1000uA’, 'l1OmA','100mA', '1000mA‘', '3000mA'’

'4line_1ohm',
'4line_10Kohm',
'41ine_10Mohm',
'21line_1Kohm',
'2line_1Mohm',

"diode_5e@00mV'];

sampling_rate:
float,
delay time:

int,

Returns:
list, [value, unit].
Examples:
resistor = pmi6@03.measure("2
print(resistor)

3. ZRINETIRE

'4line_1000hm",

'4line_1Kohm',
'4line_100Kohm', '4line_ 1Mohm',
'41line_100Mohm', '2line_1@00hm’,

'21line_10Kohm', '2line_100Kohm',

‘2line_16Mohm', '2line 100Mohm'

3

sampling_rateSEORIFIRZEIER , B AHz, BUESEE /9 [ 5~250000] ;

(>0),delay_time JEFEVIHEIEIRATENIERE , BB /Ims ;

line_10Mohm")

multi_point_measure(count, scope, sampling rate=5,delay_time=1):
Args:
count:
int, countB¥UAMIERE, BUESBEA[1~512];
scope:
string, scopeSEANERBIN SFEFEE;
[ 'éemv', '6V', '60V',
'600mV_AC', '6V_AC',
'16nA', '100nA', '1000nA', '10uA', '100uA',
'1000uA', '10mA','100mA', '1000mA', '3000mA’

'41line_1ohm',
'4line_10Kohm',
'41ine_10Mohm',
'21line_1Kohm',
'2line_1Mohm',

'41ine_1000hm’,

'4line_100Kohm',
'41ine_100Mohm',

'41ine_1Kohm',

'4line_1Mohm',
'21ine_1000hm",

'21ine_10Kohm',
‘21ine_16Mohm',

"diode_5e@00mV'].

sampling rate:
float,
delay time:

sampling_rateZSE{AXEE

'21ine_100Kohm',
‘21ine_100Mohm'

ZRk% , {90z, BYESEE /9 [ 5~250000] 5

, (>0),delay_time IEFEYIHEIERATENIERE , BB 9ms ;

Returns:
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dict, {"rms":[value, unit], "avg":[value, unit], "max":[value, unit],
"min":[value, unit]}.

Examples:
resistor = pmi6@03.multi point measure(10, "2line 10Mohm")
print(resistor)
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TR2: (FFH6VERENESVEREEE(measure, multi_point_measureREEFT LANE 5 B FRANE GEBT
ZRlE)

BINAPS: pmi60@3.measure('6V', 5, 3000)
IREIZEER : [5000.25170134012429, 'mV']

BINAPS: pmi6003.multi_point measure(5, '6V', 125000, 3000)

IRAIZER: {'rms': [5000.15170004012421234, 'mVrms'], 'avg':
[5000.15150024901342124, 'mV'], 'max':[5000.20153404902314234, 'mV'], 'min':
[5000.05150004924242234, 'mV']}
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HER2: 6V ACERNEITRBESVEE, WATZRfac=1000Hz

BINARS: pmi6003.measure('6V_AC', 5, 200)
IREIZEER : [5004.30303211031424231, 'mV']

EIANGPS: pmi6003.multi_point_measure(5, 6V_AC, 125000, 200)

REIZEER: {'rms':[5004.2030121102314323, 'mVrms'], 'avg': [5004.2014002112422442,
'"mV'], 'max: [5004.3030911103423, 'mV'], 'min': [5004.10500191325634, 'mV']}
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EE2: (FFH1000mAEFENE200mAELREETR:

ME: pmi6eB3.measure('1000mA', 5, 3000)
IR[A)ZEER: [199.97920009042424254, 'mA" ]

ME: pmi6ee3.multi_point_measure(5, '1000mA', 5, 3000)

REIZER: {'rms': [199.9992000903484242, 'mArms'], 'avg':[199.9892000449324243,
'mA'], 'max':[200.01920009083452162, 'mA'], min:[199.78920009085356, 'mA']}
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$£1E2: {FF4line_1ohmEFEN=1000hmEa[H

ME: pmi6eo3.measure('4line_lohm', 5, 3000)
IR[EIZEER: [0.997002001076523421, 'ohm']

M&E: pmi6eeo3.multi_point_measure(5, '4line_lohm', 5, 3000)

IREIER: {'rms': [0.998002001075415, 'ohmrms'], 'avg': [0.997063001075336,
'ohm'], 'max': [1.00700200108534, 'ohm'], 'min': [0.98996300108652, 'ohm']}

LR 2 FERR BN S 1%
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£1E2-{EF2line_1KohmE7FE, M= 1000hmEEfE:

ME: pmi6e83.measure('2line_1Kohm', 5, 3000)
IR[A)ZEER: [1000.01630024086244721, 'ohm']

ME: pmiee3.multi_point_measure(5, '2line 1Kohm', 125000, 5)

IREIZEER: {'rms': [1000.003304242424011, 'ohmrms'], 'avg': [1000.007300242525791,
'ohm'], 'max': [1000.1173009663341, 'ohm'], 'min': [999.9073046742021, 'ohm']}
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ME: pmi6eo3.measure('diode 5000mV', 125000, 5)
IREZEER : [1700.9271024536674012, 'mV']

M&E: pmi6ee03.multi_point_measure(5, 'diode 50eemV', 125000, 5)

REIZEER: {'rms': [1701.05130256646029, 'mVrms'], 'avg': [1701.05100851357902123,
'mv'], 'max': [1701.2026400136790432, 'mV'], 'min':[1700.4835200208921456, 'mV']}

PO. Nysa_toolkit{sEFEAR

Nysa_toolkit@NysalliilSFEREMNBEIRFEENETE, HiRZT Debug panellhgt, AILABZUILGER
ERMUEAERAGNENIAINEE, TFEFIMER LIARIrpcRE.

UIZHEERER AR

FJFNysa_toolkit EA#ERE, mEAFE_EAIPMI-6003EEFH N UIEIFRE
—. PMI-60038=F 1 ARVIAF EIN TEFR:
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0 2Wire Q 4Wire

FHoE

miME

WEMANSEUSEUT:

DC: DCEEB/EME, EFE(scope)miEiE[ ‘6mv’,’ 60V’ ]

AC: ACEEENIE, EFE(scope)niEiR[ ‘600mV_AC ’,’6V_AC ]

I: DCEERME, EFfE(scope)mi%EiFE[ ‘10nA °,°100nA °,°1000nA°, ‘10uA ’,’100uA
’,21000uA’, “10mA °,’100mA ’,’1000mA’,’3000mA° ]

Q2Line: EBFENIE, ZFE(scope)d iEiF
[ €21ine_1@00hm’,’°2line_1Kohm’,’2line_10Kohm’,’2line 100Kohm’,’2line 1Mohm’,’2line
10Mohm’,’21ine_100Mohm’ ]

O4Line: EBFRNIE, ZFE(scope)d iE#F
[“4line_lohm’,’4line_1000hm’,’4line_1Kohm’,’4line_10Kohm’,’4line_100Kohm’,’4line_1
Mohm’ ,’41line_10Mohm’,’4line 100Mohm’ ]

VD: ZiRENE, 2 (scope)di%iE[ ‘diode’ ]

REFIEZ (sampling_rate): FAIAMENS, EfiHz

ZERATE] (delay _time): EMIAEAS, Bfims

RE (count) : AIRSHARERSZRNEINRE, NERIREIYGIR (rms) , & (ave) , K
{E(max), B/AME(min)IXJL/ME, RERHERTUEENNANE
g

BMANIVHERBE, =E"DC", M2z, RIUERANERBEE.
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